

## PURCHASING DEPARTMENT DIVISION OF BUDGET & FINANCE

## PUR-1350 ADDENDUM NO. 1 INVITATION TO BID

## TRASH REMOVAL SERVICES

DATE: Thursday, May 4, 2017 BIDS DUE: Wednesday, May 10, 2017

2:00 P.M.

To Bidders:

This Addendum is hereby made a part of the Contract Documents on which all bids will be based and is issued to correct and clarify the original documents.

Please acknowledge receipt of this Addendum at the appropriate space on the Proposal Form. This Addendum consists of one (1) page and one (1) attachment.

NOTE: All Bidders must enter the Washington County Administration Complex through either the front door at the 100 West Washington Street entrance or through the rear entrance (w/blue canopy roof) which is handicap accessible, and must use the elevator to access the Purchasing Department to submit their proposal and/or to attend the Pre-Proposal Conference. Alternate routes are controlled by a door access system. Washington County Government has announced new security protocols being implemented at the Washington County Administration Complex at 100 West Washington Street, Hagerstown. The new measures took effect Tuesday, February 14, 2017. The general public will be subject to wand search and will be required to remove any unauthorized items from the building prior to entry. Prohibited items include, but are not limited to: Weapons of any type; Firearms, ammunition and explosive devices; Cutting instruments of any type - including knives, scissors, box cutters, work tools, knitting needles, or anything with a cutting edge, etc.; Pepper spray, mace or any other chemical defense sprays; and Illegal substances.

**ITEM NO. 1:** *Inquiry:* I would like the pricing from the last bid or the current rate on PUR-1350.

<u>Response</u>: The bid tabulation (PUR-1181) which are the awarded/current contract pricing is attached.

aren R. Luther

BY AUTHORITY OF:

Karen R. Luther, CPPO Director of Purchasing

PUR-1181 Trash Removal Service

				Allied Waste of Hagerstown Hagerstown, MD		Chambersburg Waste Paper Co., Inc. Chambersburg, PA		IESI Chambersburg, PA	
Item No.	Description	Unit	Qty	Unit Price Total Price		Unit Price	Total Price	Unit Price	Total Price
1	Antietam Wastewater Treatment Plant	Month	12	\$45.00	\$540.00	\$43.62	\$523.44	\$28.00	\$336.00
2	Black Rock Golf Course	Month	12	\$231.75	\$2,781.00	\$230.00	\$2,760.00	\$147.22	\$1,766.64
3	Community Action Council Building	Month	12	\$147.75	\$1,773.00	\$155.30	\$1,863.60	\$110.42	\$1,325.04
4	Conococheague Wastewater Treatment Plant – Domestic Plant Area	Month	12	\$211.00	\$2,532.00	\$399.00	\$4,788.00	\$147.22	\$1,766.64
5	County Administration Building	Month	12	\$147.75	\$1,773.00	\$174.50	\$2,094.00	\$147.22	\$1,766.64
6	County Administrative Annex Building	Month	12	\$82.25	\$987.00	\$87.25	\$1,047.00	\$54.56	\$654.72 *
7	County Commuter Building	Month	12	\$82.25	\$987.00	\$87.25	\$1,047.00	\$54.56	\$654.72 *
8	County Office Building	Month	12	\$344.00	\$4,128.00	\$436.26	\$5,235.12	\$272.79	\$3,273.48 *
9	Detention Center	Month	12	\$299.75	\$3,597.00 *	\$766.44	\$9,197.28	\$327.48	\$3,929.76 *
10	Division of Fire & Em. Services Special Operations	Month	12	\$82.25	\$987.00	\$87.25	\$1,047.00	\$54.56	\$654.72 *
11	Hagerstown Regional Airport – 18434 Showalter Road	Month	12	\$147.75	\$1,773.00	\$99.91	\$1,198.92	\$109.12	\$1,309.44
12	Hagerstown Regional Airport Maintenance Building – 18436 Showalter Road	Month	12	\$82.25	\$987.00	\$99.91	\$1,198.92	\$54.56	\$654.72 *
13	Hagerstown Regional Airport T- Hangars' Location – 18523-18535 Henson Blvd.	Month	12	\$147.75	\$1,773.00	\$149.17	\$1,790.04	\$109.12	\$1,309.44

PUR-1181 Trash Removal Service

				Allied Waste of Hagerstown Hagerstown, MD		Chambersburg Waste Paper Co., Inc. Chambersburg, PA		IESI Chambersburg, PA	
Item No.	Description	Unit	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
14	Highway Department	Month	12	\$231.75	\$2,781.00	\$301.15	\$3,613.80	\$218.23	\$2,618.76 *
15	Leitersburg/Smithsburg Treatment Plant	Month	12	\$59.00	\$708.00	\$49.00	\$588.00	\$28.00	\$336.00
16	Martin Luther King Center, & Memorial Recreation Ctr.	Month	12	\$231.75	\$2,781.00	\$250.49	\$3,005.88	\$218.23	\$2,618.76 *
17	Patrol Building	Month	12	\$128.50	\$1,542.00	\$125.25	\$1,503.00	\$109.12	\$1,309.44
18	William J. Dwyer Center	Month	12	\$190.00	\$2,280.00	\$250.49	\$3,005.88	\$163.67	\$1,964.04 *
19	Winebrenner Wastewater Treatment Plant	Month	12	\$59.00	\$708.00	\$49.00	\$588.00	\$28.00	\$336.00
20	Washington County Emergency Air Unit	Month	12	\$35.00	\$420.00	\$35.00	\$420.00	\$28.00	\$336.00
21	Washington County Agricultural Education Center	Month	12	\$105.50	\$1,266.00	\$106.00	\$1,272.00	\$81.74	\$980.88
22	Washington County Museum of Fine Arts	Month	12	\$82.25	\$987.00	\$87.25	\$1,047.00	\$54.56	\$654.72 *
23	Sharpsburg Water Treatment Plant	Month	12	\$59.00	\$708.00	\$49.00	\$588.00	\$28.00	\$336.00
	Total Sum Bid Items 1 through 23		12	\$3,233.25 *	\$38,799.00 *	\$4,118.49	\$49,421.88	\$2,574.38	\$30,892.56

<sup>\*</sup> Corrected Calculations based on individual unit pricing.

PUR-1181 Trash Removal Service

	Allied Waste of Hagerstown Hagerstown, MD	Chambersburg Waste Paper Co., Inc. Chambersburg, PA	IESI Chambersburg, PA
Washout/Disinfecting of Ninety-six (96) Gallon Tote	\$25.00	\$75.00	
Washout/Disinfecting of Two (2) Cubic Yard Container	\$75.00	\$150.00	
Washout/Disinfection of Three (3) Cubic Yard Container	\$75.00	\$150.00	
Washout/Disinfecting of Four (4) Cubic Yard Container	\$75.00	\$150.00	
Washout/Disinfecting of Six (6) Cubic Yard Container	\$75.00	\$150.00	
Washout/Disinfecting of Eight (8) Cubic Yard Container	\$75.00	\$150.00	

IESI was determined to be non-responsive; it's bid was not submitted on the revised Form of Proposal issued in Addendum No. 3.

3

PUR-1181 Trash Removal Service

J & J Inc.
Frederick, MD

	1				
Item No.	Description	Unit	Qty	Unit Price	Total Price
1	Antietam Wastewater Treatment Plant	Month	12	\$41.00	\$492.00
2	Black Rock Golf Course	Month	12	\$218.77	\$2,625.24
3	Community Action Council Building	Month	12	\$142.00	\$1,704.00
4	Conococheague Wastewater Treatment Plant – Domestic Plant Area	Month	12	\$190.00	\$2,280.00
5	County Administration Building	Month	12	\$142.00	\$1,704.00
6	County Administrative Annex Building	Month	12	\$70.70	\$848.40
7	County Commuter Building	Month	12	\$70.70	\$848.40
8	County Office Building	Month	12	\$335.00	\$4,020.00
9	Detention Center	Month	12	\$749.00	\$8,988.00
10	Division of Fire & Em. Services Special Operations	Month	12	\$70.70	\$848.40
11	Hagerstown Regional Airport – 18434 Showalter Road	Month	12	\$142.04	\$1,704.48
12	Hagerstown Regional Airport Maintenance Building – 18436 Showalter Road	Month	12	\$70.70	\$848.40
13	Hagerstown Regional Airport T- Hangars' Location – 18523-18535 Henson Blvd.	Month	12	\$142.04	\$1,704.48

PUR-1181 Trash Removal Service

		J & J Inc. Frederick, MD			
Item No.	Description	Unit	Qty	Unit Price	Total Price
14	Highway Department	Month	12	\$218.77	\$2,625.24
15	Leitersburg/Smithsburg Treatment Plant	Month	12	\$41.00	\$492.00
16	Martin Luther King Center, & Memorial Recreation Ctr.	Month	12	\$257.00	\$3,084.00
17	Patrol Building	Month	12	\$130.00	\$1,560.00
18	William J. Dwyer Center	Month	12	\$180.00	\$2,160.00
19	Winebrenner Wastewater Treatment Plant	Month	12	\$41.00	\$492.00
20	Washington County Emergency Air Unit	Month	12	\$20.00	\$240.00
21	Washington County Agricultural Education Center	Month	12	\$110.00	\$1,320.00
22	Washington County Museum of Fine Arts	Month	12	\$70.70	\$848.40
23	Sharpsburg Water Treatment Plant	Month	12	\$41.00	\$492.00
	Total Sum Bid Items 1 through 23	Month	12	\$3,494.12	\$41,929.44

PUR-1181 Trash Removal Service

	J & J Inc. Frederick, MD
Washout/Disinfecting of Ninety-six (96) Gallon Tote	\$15.00
Washout/Disinfecting of Two (2) Cubic Yard Container	\$50.00
Washout/Disinfection of Three (3) Cubic Yard Container	\$50.00
Washout/Disinfecting of Four (4) Cubic Yard Container	\$50.00
Washout/Disinfecting of Six (6) Cubic Yard Container	\$50.00
Washout/Disinfecting of Eight (8) Cubic Yard Container	\$50.00